A90 ||| APPENDIX I ANSWERS TO ODD-NUMBERED EXERCISES

5. (a), (b) x? 19. sinx + 3x>+ C 05,
20 / (/s
|
-10 v% 10
t L \/ J
-6
7.4'()=1/G"+1) I 21,18 23 -2+ 1/e 125 52
9. g'(y) = y*Slna,:CLan(ll/l).c)F (x) = —+/1 + secx 27, 3¢ 29, & }L 55 33, 25 35. 8
5 f—— = 256 _ax
13. B(x)=-—7" I5. y' = ytanx + y/tan x sec’x 37. 1 + w/4 39. 5 ) 41. w/6 43. —3.5
x 45. 0,132,084  47. %
17. y' = M 19, 2 21. 63 49. The increase in the child’s weight (in pounds) between the
’ 1+ (3 — 3 ) ages of 5 and 10

5

23.3 25,7 21. % 29 31. 1
35.In3 377 39 ¢ -1 41. 0
43. The function f(x) = x~* is not continuous on the interval
[—2, 1], so FTC2 cannot be applied.

45. The function f(f) = sec 6 tan 6 is not continuous on the

w|s

33, £ 51. Number of gallons of oil leaked in the first 2 hours

53. Increase in revenue when production is increased from
1000 to 5000 units

55. Newton-meters (or joules) 57. (a) —3m (b) % m
59. (a) o(f) =3P + 4t + 5m/s  (b) 416im

interval [7r/3, 7], so FTC2 cannot be applied. 6l. 46% kg 63. 1.4 mi 65. 558,000
47. % 49.2 67. (b) At most 40%; %
51. 375 »

EXERCISES 5.5 = PAGE 406

. e~ +C 3ix*+1+C 5 —gcos‘6+C

7. —tcos(x’) +C 9. 5(Bx—2"+C

. 12x + x)¥* + C 13. —iIn|5-3x|+ C

-1 15. —(1/m cos 7wt + C 17. 3\Bax + bx* + C

7 ol # 19. Ynx + ¢ 21 2siny1+C 23 3sin'6+C

; 25, 21+ PP+ C WA +ZPP+C 29 e+ C

[ ) —204x*—1)  309x*—1) . x .

8.0 =757 T o+l 31. —1/(sinx) + C 33 —3(cotx)* + C

| _ 35. —In(1 + cos’x) + C 37. Infsinx| + C
in /x i 1 end g sin~1x| +

3 55. y' = 3x2sin(x?) — Sin vx 57. /257 59. 29 39. isec’x+ C 4l In|sin”'x| + C

{ : 2Yx 43. tan"'x + sIn(1 + x*) + C

61. (a) —2+/n,v/4n — 2, n an integer > 0 45. 5(x + 2" =3+ 2+ C

} ) (0,1), (—vAn — 1, —yan — 3), and (van — 1, 4n + 1), 7. 5 -1+ C 49. ssin'x + C
| n an integer > 0 (c) 0.74 1 033
1 63. (a) Loc. max. at 1 and 5; y £
loc. min. at 3 and 7 lI =
: b) x=9 ‘/\: 4/\6 8 - : o
3 () (3.2).4,6),(8,9 @ \/ : /f
(d) See graph at right. - -1 —0.35
i3 vl
‘; 21 51. 53, &2 55 4

0
5.0 59.e—+e 61.3 63 3(2v2-1)a’

65.% 67.2 69 lnle+1) 7L 33

65. % 73. f(x) =x**a=9 :
73. 67 75. All three areas are equal. 77. =4512L

75. (b) Average expenditure over [0, 7]; minimize average
expenditure
5 2t o
i 79. —| 1 —cos— | L 81. 5 87. w7/4
: 4ar 5
§ EXERCISES 5.4 = PAGE 397

i 5.1 -(1/0)+C Tx —gx*+gx*-2x+C CHAPTER 5 REVIEW = PAGE 409
J 9. 21-!2‘*’%!3-},[4‘1'(?  f ¥ %x3—4\/;+ C True-False Quiz
13. —cosx + coshx + C 15. 36° + cscf + C l. True 3. True 5. False 7. True 9. True

17. tana + C I1. False 13. False I15. False




